UNIT DIGIT

Last Digit of number is ¢

alled Unit
Digit
123 1t
unit digit
| In This no. 4 is unit digit,
The unit digit of the
) Resultant value depends upon
The unit digits of all
I participating numbers.
Ex.1: 23 + 34 + 46 + 78 = 181, unit
8 digit of 181.
Sol. - unit digit = 1
7 It is clear that the unit digit of
the Resultant valye 181 de-
0 pends upon the unit digits 3,
5 4,6,8
3+4+6+8=21
2 So, units d.igit =1

Ex.2: What is the unit digit of ?
31 x37 x 36 x 46 x 89

sol. 31 x 37 x 36 x 46 x 89

12 Unit digit =1, 7, 6, 6, 9

58 multiply the unit digits =1 x 7
x6x6x0

80 = 1x7=7 4

= 7Tx6=42

61> 2xga1n ,

40> 2%9-18 Com

% unitdigit=8 A A

68 EX3: What is the unit digit o %"
31 x33 %37 x 39 X43,

7485 31 x 33 x 37 # 39 x'¢3¥

190

multiply the upnig digits
-4 = 1%x3 x%%:f&gilx)ﬁf
0 unit digit = 7_
5373‘4: What is the unit digit of ?
9] %093 x 95 x 96 x 97 x 98
5623°L Multiply the unit digit
1'43x5x6x7x8=0
626EX8: Fing the unit digit of 135 x 136
650301, 1, 0

The unit digits = s, 6, 0
multiply the units digit
=5x¢g x 0

= Unit digit =

‘B_oi.
b4

Ex.6: Find the unit digit at the
Product of all the odd prime

"51=5x4x3x2x1=120
unit digit = 0
Factorial 5 and more than 5
express gives unit digit 0,
Unit digit when ‘N’ is Raised to a power
unit digit of 0, 1, 5 and 6 has
any power (odd or even) no
change
Ex.11:(3765)"7

*

unit digit = (5)%7 =
Ex.12:(6736)357
unit digit = (6)32%67 = g
Ex.13;:(32541)
unit digit = (1) =1
* 4and 9 -
4 9
even odd even odd
IJOWer power power, power
. unit
é’ir[‘;;f_, 6 4 digit—>1 9
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Ex.14: Find the unipplace (67354)12%7

Sol. (67354274
Numbers. _ uni lg'fﬁ%’ (4)1257 = (4) odd power
8ol. The Prime numbers are 3, 5,7, So, unit =&
11,13, 17, ... etc. Ex.15: Find the ainit place (3259)121
Now we know that if Sismulti- ggp (3%59)1 14
plied by any odd number it al- m digit = (9)1214= (9)<ven power
ways gives the last digit 5. So it digit = 1
:chre required unit digit will ne % JFind the unit place (6734)%12
2 g s Bohy (6734)12
Ex.7: Find the unit digit of 584 %2?% L g unit digit = (4212 = (4)even
X 547 x 613 VL -
Sol. The unit digits = 4, 8, 73} \%J@ S LRI 10
'tiplying the unit digits ¥, R"l¢°f(2,3,7andg) ,
:_n: ¥ 1; 3:(1 7gx 337 A B b unit digit when 'N' is raised to
= unit digit=2 % ! Ny b .
Ex.8: Find the unit digit'of the prod- e v;l:;e‘f the pever ia
uct of all the eyvg:ri‘;ﬂnﬁmbers —
Sol. The evenynumber are unit | 1 2 3 4
2,4,6, 8?11@ fT, ....... ete digit| or | or or or
Now w?l':\po{z"\%at if '0' is multi- J 4n+1[4n+2 |4n+3 | 4n+4
plied by apy number it always
dives gajgt digit 0. so the re- .21 %.]8 a
quiredanit digit will be 0. < I - 1
Ex.9: Findsithe unit digit 4!
Sol. \4I=4x3x2x1=04 717 93]
£ 7 unit digit = 4 8 8 4 2 6
* %E#10:Find the unit digit 5!

heren — Natural No.
If those number which unit
digit 2, 3, 7and 8. _,
all unit digit have cyclicity 4
Ex.18: Find the unit place 335
Sol. 33=32x 33
Break the power form of 4n
(B8 %32 = (... 1) x (...7)
unit place =1 x7 =7
Ex.19: Find the unit place (127)%
Sol. (127)*
unit place = (7)%
= (7P x (7P = (792 x (7)0
= (1) x (....3)
unit place =1 x 3 =3
Ex.20: Find the unit place (678)s62
Sol. (678)s2
unit digit (8)s62
(8)*° x (8)2
(84140 x (8)2
(-..6) x (...4)
unit digit=6 x 4 = 24 =4

nmn nn

{1
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Ex.21: Find the unit place (327)»°
Sol. (327

unit digit = (7)8%°

640 is multiple of 4

then = (79)'%

unit digit = (1)'%°=1
Ex.22: Find the unit digit of (2137)™

Sol. (2137)™
unit digit = (7)"S
= l7)?52 x T
= (74]\88 x 71
=(.1)x 7

unit digit=1x 7=7
Ex.23: Find the unit digit of (13)2

Sol. (13)0
unit digit = (3)20
= 32000 x 33
= (39500 % 33
= (o 1) % 27
=1x27=27
unit digit = 7
Ex.24: Find the unit digit of (22)%
Sol. (22)=
unit digit = (2)2
= (20x 2°= (2%)x 8
=(....6)x 8

unit digit=6x 8=48=8

1. Find the unit digit of 584 x 389
x 476 x 786

@7 [m3 (4
2. Find the unit digit of
641 x 673 x 677 x 679 x 681(’

d) 6

LLLLL

Ex.25: Find the unit digit of (37)'% a8 326 it
Sol. (37)'** (5 + @I+ O+ i 26
' {
unit digit = (7)"" l l l |
= 104 1 {
= 22)2“ : :;' even e
=(..1)%x 7 Same power Same (7'
unitdigit=1x7=7 -5 +6 + 6 + 1 28.
T o o B e
(25}25 Ex.28: Find the L:.z P 9.
Sol. (23)%' x (24)2x (26)2 x (27)% x 255 y
(25)% 30.
unit digit = (3)? x (4)22 x (6)® x {I %
(712 x (5 @;ﬁ
Break the power multiple of4  Sol. ‘\1’74 16° -
3% 3N 4P 69 x (T % 5" g,’[?t%\:il : .
A i e R A T
= even same same AN . . 3" 27" 9 32.
power digit digitrs 1
=3x6x6x1x5 A | N e B2 43a.
unit digit = 0 2{.) a\ o™ 2
Note:- unit digit = even x 5\—,'0‘ = 344 x 455 4 Q72
Ex.27:Find the unit plgc_e‘{ unit digt = (....1)  [......4}
(235)2'% + (314)%,1 (6736)2'° + L i 34.
(3167)112 ,:\ r‘;} e = 4' + 6 — 10,
unit dlg‘lt a Yoy unit digit = 0

&;f j)"’f
eE |CISE
PN ?\ ul

10. "‘iclas\tidlgztt of the number ob-
tai.ned’ by multiplying the num-
ber§ 81 x 82 x 83 x 84 x 85 x 86

z‘gx 87 x 88 x 89 will be

"m @0 (B9 ©7 (d2
@9 M3 (@©6 (d7 éi) JFind the units digit of the
3. Fmd7t]:ll§ un;t?cilgzg of ‘?Cfp expression 256251 + 36528 + 22853
x )
T [b,ﬁ, l(c) d?a* Lol e L
) R ) dxg;taf% Q 12. Find the units digit of the

(3625)** x (4268)*%%
(@6 (b)3, 4yw0
5. Find the umﬁch it \,)

{3694}1793 » (6€ [841)94I

(@) 5 )4 (@O
6. Find the u t.'d git of

(7% - 3%) )

@7 M®M3 (4 (@O
7. Find the unit place of

(17]1%9 + (1 l)l'?w - {7)!9‘)9

@0 (M1 (2 (@7

8. Find the unit digit of
36 % 47 x 6° % 74 % B x 9°

@6 (9 (0 (d2

9. Find the unit digit of 111! (facto-
rial 111).
(@0 (1 (c)5 (d) 3

expression 55725 + 735810 4 20853
(@4 [®O ()6 (45
13. Find the units digit of the expression
111+ 122+ 133+ 144 + 15% + 16",
@1 (9 (7 (O
14, Find the last digit of the number

194254 39+ 49, +999,
(@0 (b1 (A2 (d)S5s
15, Unit digit in (264)192+(264)1% is;
(@0 (4 ()6 (d8
16. Unit digit [(251)+(21)-
(106)'™+(705)%~(16)*+259] is
(@)1 M4 (5 (6

17. The unitdigit in the expansion of
(2137)* is

@1 ()3 (7 (d9
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18. The digit in unit’s place of
product (2153)'% is :

a7 @8

@l (b3
19. The digit in unit’s place of
product
(2464)'7 x (615)3"7 x(131)“"l
@0 M2 ((©3 (3
20. What will be the unit digit in
product of 7105 ?
@s ®7 (©9 @ 1:
1. what is the number of unit pl
in (329)% §
@l Mm7 (9 (d3

22. unit digit of the number (24

is: ;

@4 B6 ()6 (@8
23. The unit digit in the prodq

(122)'7 is:

@2 (B4 (@6 @ b

24. The unit digit in the sum of l”f'

+ (124)"is ;

@5 (4 (2 0
a5, ’[helastdlg;tof[lOOl]’u‘“llmﬁ
@0 3 (o4 @F

G 2200

“;ﬂzakes
|

{
|

|
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na - 26. Find the unitdigitin the product:  36. Find the last digit of (10n%+ (100!)* + (1000!)° +
(4387)** x (621)™, 222888 4. gggan (10000!)? + (100000!)
(@) 1 (b()j2 t(‘C)hS (d) 7 @2 ()6 (0 (d8~ (a) 45939 (b) 00929
27. The unit digit of the ex i .
| 2. 256251 4 3ﬁs§= + 73% is PrRSsion 37. Find the last digit of 393" (c) 20929 e
" 8)/6.. (B 9 o & ) 0 @4 b8 () 6 i) 45 '[lfil: Caml:t Ccll?t?:rz;n:he following
. The unit’s digitin the product 7t 38. Find the last digit of - ‘ € unit dig
28 . B8 % 3% fs i e last digit of the expres expression [1”99_.‘_ (21)9% + (31)°7 +
@1 (M2 (©3 (da4 124224324 424 +1002 (40% +...... (99))! is:
29. The last digit of 3% is @0 M4 (6 (d)s8s (a) 1 (b) 3 ) 7 (d)6
@1 (B3 (97 (d9 39. Find the unit digit of 1! + 22+ 32 46. The unit digit of (12345k)"is 6.
30. The digit in umtzs place of the +......100, The value”of
Qs72r+ (1573ps s (07T @S )7 @0 @wnor (@8 ) 2
@4 1 Q2 (da3 40. Find the unit digit of (d) all
31. The unit digit in 3 x 38 x 537 x 13% x 68% + 2413 x 57% + 1234 + 47. The unit'digit of the expression
1256 is 5678. (124 (202 + (31 + ... +(1001)100
@4 M2 (©6 (48 @4 7 (©0 (48 @O b)1 (92 (@7
32. The unit digit in the product *!' The unitdigit of the expression “3g {Tie last digit of the expressioin
(2467}]53’:(341]72is 1x2x3x4X5X6X7X8X9 10 [ xg'zx 43,‘94)(45)(96;‘ x
@1 M3 (©7 (@09 : L W00, groojs -
33. The unit digit in the product
(6732)'"x (6733)'72 x (6?34)1% (@7 (b)9 (c) 8 (d Q} 2o G7 o !
(6736)'7 42. Find the unit digit of the exp 49. The last digit of the expression
6 @1 M3 94 (@5 e T 222”35' . 6662 Rl b gt PR
' 34. Find the unit digit of the prod- L
uct of all the prime number be- @5 (9 (3 @0 ()3 (o5
tween 1 and 99999 (d) None of these (d) None of these
@9 M®7 ()0 (dN.O.T. 43. The last digit ofitHe fol owing ex- i et 4 ) .
35. Find the unit digit of the prod- pression isg 4 (L)} + (21)2+ (312 20 et digh of g% i h gy
uct of all the elements cf the set + {4 L N 110!)“’ 59 % g7 x 78 is:
which ¢ . isi5 all the prime (a) 4 (b)\S (c)6 (d)7 (@ 0 ®) S
numbers greater than 2 but less 44, Tl;e lg\sf 91 ;glglts of the following ; .
thy than 222, expraggn will be (c) Can't be determined
| @4 M5 (u " GCT 1')5* (2])4 £ (B + @R+ (51 + (d) None of these
th oy, ARy 3\
r?f 3 -Qﬁ ANSWER KEY
is L (d) ' 6. (c) 11. (b) E 16. (b) 21. (a) a 26. (d) g 31. (d) § 36. (c) B 41. (¢) 46
; 2. (a) 7. (b) 12. (c) 17. (d) 22.d) f 27.(d) & 32.(c) B 37 (¢ 42. (b) O
th 3. (a) 8. (a) 13. (b) = 18. (c) e 23. (a) gy 28. (d) | 33. (c) 38. (a) 43. (d)
4. (a) 9. (a) 14. (a) 19. (a) g -(d) R 29. (a) @ 34. (c) & 39. (b) & 44. (b)
5. (@ 10. (a) 15. (a) 20. (b) ®! 25. (b) @ 30. (a) 35. (b) & 40. (a) 45. (c)
ki
SOLUTION
() 584 x 389 x'476 x 786 unit digit = 9 =5 x (8% x 8!
: unit dlglt 4, 9/5 6 3. (a)(5627)'53"‘ (671)20 =5x(6)° x 8
ul Mult:plylng the unit digit unit digit (7)'% x (1) unit digit=5x 6 x8=240 =0
“4x9x6x6 =(7)'%%x 7'x 1 5. (d)(3694)!793x (615)%'7 x (841)°%
3 1 Unit digit - 5 = (79)%x 7 x 1 unit digit (4)1703 x (5)%7 x (1)
42 (2)641 x 673 x 677 x 679 x 681 Tafesse b T qoddpover = ¢
unit digit = 1, 3, 7, 9, 1 unit digit=1x7=7 5i=5
: 1 333 645
2) =1x3x7x9x1] unit digit {5)*% x (8)65 gt
> =21x9-1g9 =5 x (8)"x 8! Hence, unit digit = 0

B

2 Rakegp, Yadav Readers Publication Pvt. Ltd.



D e, . .

6. () 795 — 388

= TR P_3%x J9

= (79X x 343 - (3 x 9

= fooceel PR B = (s )09
unit digit = (.....3) - (...... 9)
=13-9=4

7. D)(AT)™0 4 (11)199° — (7)1
unit digit = (7)'9° + (1)19° — (7)199
= (7)1 = (7)'*° gives = 0

Then, unit digit =1
8. (a)Unit digit = 3°x 47 x 6% x 7* x
8% 95

The unit digit of 3*=3*x 32=9
The unit digit of 47 = 4
The unit digit of 62 = 6
The unit digit of 74 = 1
The unit digit of 82 = 4
The unit digitof 95=94x 91 =9

multiply the unit digits =9 x 4
xHx1x4x9
unit digit = 6

Q. (@111'=1x2x3 x4 x5x ...
x 100 x 111

Since there is product of 5 and
2 hence it will give zero as the
unit digit.
Hence the unit digit of 111! is O (zero).
10. (a) 81 x 82 x83 x 84 x 85 x 86
x 87 x 88 x 89

13. [ 1114+ 122+ 137+ 14 + 155+ 16°

17. (d) (2137)™%*

unit digit = (1)' + (2)* + (3)° + = (7)7% will give unit digit
{4}4 T ls)s + lG)ﬁ ] unit digit
] s = —) 7 Tepl =Z§
Sum ofunit digit=1+4+7 +6 72= Zg ol 754 divide by 4 ;
+5+6=29 732 343 >3 4 So remainder j
unit digit = 9 ;. 2401 > 1 7 i 9
7°= 168077
14. . (a) 13+ 23+ 33+ 42, +99° P
Sum of cube of natural no. repeat

n(n+1]]’ . [99(99+1)}"‘ 18,
2 ( 2% b © 2

U[r::i]t Plag;@

3167
nit digit
99x100 |’ : %43 -3
- (5% - ooxs0 19 L5
= (4850)2 @gi ":z = 17
i b - i
It dig tm ? . Q This cycle will continue ‘
15. (&) (264)'7 + (264) = divide the power of 3 by 4
unit digit 167
— deris 3
PR | 2 = remain
42, 16 - :‘%3{\% 37
. o4 ﬁ; Unit digit = 7

Rule:When 4 has odd v-{rer, then unit
digit is: % ‘rzij

When 4 hgs ;ﬂlren power, then unit
d.lgp.t is, £ Y

%\ (764)'92 +(264)102

(a) (2464)'™3 x (615)37 x (131}
4‘ >4 54
- 16 6
- 64 54

So odd power of 4 will have 4 as ur
digit and even power will have 6 :

Unitdigits =1, 2,3, 4, ........, 9 | i i unit digit 5 and 1 have same unit dl
Product of unit digits ‘ b4 its respectively
=1x2x3x% ... x9 Vs Yo L o) iy o1
Because 5 multiply any evenphoa“‘i? 3 + 4 (2464) ™ x615)*7 *(131)
Then ®  (even power) (odd power) B
we gets unit digit = {Z unit digit6 + 4 =10 > 0 J _
11. (b) 25%5 + 365 + 2,%353 \J Alternate : unit digit >4 x5 x1 =2
unit digit = (5)MSl + %c (b = (264)'92 + (264)10 = 20 = 0 unit digit
ﬁ = (264)'02 (1 + 264) 20. (b) 70
unit digit = (.. &ﬁlﬁ-% + (2 x L (264)1% x 265 = " 5757
= (....5) (. 'Ia' 4213 x 2 o = 7?2 549.,9
=546 mu 2 Multiplication of S& 2 =0 = 72534353
B wali dxg;t— B 6D Hence, unit digit is 0. = 745240151
=5+6+12=23 16 (b) [(251)® + (21)® - (106)'° + Divide power of 7 by 4
Hence, unit digit =3 (705)% - (16)* + (259)] 105 . ¥ s
12.  (c) 55725 + 735810 4 853 unit slace ‘of 1,8 afid ‘6 will P remainder = 1 = 7! is left
unit digit = (5)7%° + (3)°' + (2)*5* remain same unit digit = 7
= (,..5) + (3%)%2x 32+ (29)213x 2! = [(1)°8+(1)2°—(6) 0+(5)*~(6)*+9 21. (a) (329)®
=5+(1)“‘52"9+(16]2’3" 2! - |1 ¥ 1=6+B-6+9] =  Ifpower of 9 is odd, then unit di

Sum of unitdigit=5+1x9+6
x2=5+9+12=26

unit digit = 6

= 16-12=4
Hence, unit digit = 4
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number be 9. If power is even th
unit digit number be 1.
Hence, unit digit = 1

li¢



22, (d) (22)* SR 27. (d) 5 always gives unit digit 5
p Bl e shipts and 6 always gives unit digit 6
. B . unit digit
2° 4 4 Cycle :
2’ 8 8 completes el B A
2* 16 6 2
2° 32 2 TR Yl
So divide power of 22 by 4 3397 .y
8'-mg1i; 4
7 = remainder 3 - —~ )
+ +
B3l 25" + 36" + 72
unit digit = 8 Yy You o %
173
23. (a) (122) ! ) ¢5%=r,2
Unit digit unit dlglt"" 5 + 6 + 32 :
1
o et R =5+6+9=20=0
§3 :: ; : ; Cycle Hence, unit digit =0
71 63 65
2516 > 6 28.4:.(d) TH,%.6% x.3
s 1 & Ak
2°=> 32 = 9 unitplace 73 g3 3
2 = 291 geix) = 1 gy '

L {
=6%x2=6x2 = 12 unit digit = 3 «x 3 %4

6 x
unit digit = 2

= 4
24 (d) g2y (1247 29. (a) 3% \
1
t Divide = 470 = re%@r =0
437: 4.\13 : :
When 4 has odd power then unit Oﬁit it
digit is 4 when 4 has even power g 0 )
then unit digit is 6 3 *34%3j‘v
L 4 - 4 3 5 -—f%& }é’ Cycle
5 16 5 6

3
3
‘;plﬁg 4

T
r%g?%@;}?
4*5 64 - 4 g'@%j il

i PR ioi 40 -
4;72_' 256 5 & H%@Mmt digit of 3% of com

4 437 _pleting all cycle =1
. . _,\30%'\@
6 . 5.3 L)) “% T %l (570 + (1571 + (1579 + (15732
last (unit) digit = 0 A 7 Vﬁ\ i ¥ i 78]
3. M) (1001)2008 4+ 1002 %A %td' ity gF e RO 3?
4 ) § Ak d i i
Unit digit , 120% 4 1002 é T T Bkt S .
Unit digijt will be 1 in‘gase of 1 unit digit = 4

Teéspective of power \ ‘-‘;té ‘@%ﬁ i
= 1+ 1002 = 1003 % %
unit di it (last di it

% (q) git ( g?tj c ¥

(d)s x3® x53® x12@
T 20 20— 4@

it pla: Note:- Always multiply only unit digit
7' e 7 \—’i ]' of first no. to second and product's
Gy N b.;%-)% unit digit no. with 3rd no. Again prod-
o *'\ W Cycle uct of last's unit digit to fourth and so
777 34y 3 on. -
72 2401 Hence, unit digit = 8
(4387]2“5 x (621)7 ;
';'7]245 (1) B2, . (c) - (e8R7)E ¥ (3"
x
I
’ (7)4~f,1.; x 1 ‘7'151 % (1’13
-4
L
2] (7)“61x7 x 1 .
1 [153/4= remainder = 1)
(116"‘7 x 1
unit digjt =7 = P E 1=

R
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Result  Unit digit
7 = 7 7
7 = 49 9
77 = 343 g
7 = 2401 1

Hence, unit digit = 7
33. (c) (6732)'x (6733)'72x (6734)174
x (6736)!76
unit digit = (2)!70 x/&?’]?z x (4)174 x ()76

= 2 3 134143 174 x 176
= (294 % (39)* > (4)!7% x (6)

= (-..6){x 4 x 3% x (...6) X (...6)
Multipff€dtion of unit digit

=6x4x1x6x6=864
Hence, unit digit = 4
34. ¢(c)“Fhe set of prime number S
,3,5,7,11,13, ...}
ere is one 5 and one 2 which
10 after multiplying mutually,
eans the unit digit will be zero.
Hence, unit digit = 0
35. (b) The set of required prime
number = The set of reqgired
prime number
=85, 7,11, 5.3
Since there is no any even number is
the set so when 5 will multiply with
any odd numpber, it will always give 5
as the last digit.
Hence the unit digit will be 5.
36. (c) The last digit of the

expression will be same as the
last digit of 2888 + g222.

Now the last digit of 2385 g and
the last digit of the 8222 is 4.
L 6+4=10.
Hence, unit digit = 0
37.  (c) Find the last digit of o3z
But

=

0329 = g3 x32x32. * 32 times

= 232” = D4n

wheren =8 x (32x32 ...

Again 24n= (1)"

everyn € N
Hence, the required unit digit =6

38. (a) Sum of square natural

number = (M +1)(2n+1)

<+ X 32 times)
= unit digit is 6, for

Here, n = 100

_ 100x101x201
S T —— =338350

Then, Unit digit = Q

Iis




39. (b) Find the unit digit of 1' + 22
34 10'°,
The unit digit of 1! = 1
The unit digit of 22
The unit digit of 3* = 7
The unit digit of 4* = 6
The unit digitof 55=5
The unit digit of 6° = 6
The unit digit of 77 = 3
The unit digit of 8* = 6
The unit digit of 9° =9
The unit digit of 101°=0
Thus the unit digit of the given
expression will be 7.
(m1+4+7+6+5+6+3+6
+9=47)
(@) The unit of 3*is 1
The unit digit of 8%is 8
The unit digit of 43 is 4
The unit digit of 7% is 1
So the resultant value of the
unit digits
=1x8+4x1+4+8
=8+4+4+8=24
Thus the unit digit of the whole
expression is 4.
(c) Since in the numerator of the
product of the expression there
will be 2 zeros at the and thase
two zeros will be cancelled by 2
zeros of the denominator. Hence
finally we get a non-zero unit
digit in the expression.

......

40.

41.

Now,

100
Ix2' %3 %P »x5'% 2 x
%P« ¥ x2 x5
52x22 %Qj

]¥23r3‘159
=1 x 2°x 34 7‘6})
Thcrcf&hﬁ}le it digit of the
given expression will be same as
that of 1 x'26 x 34 x 7,

Now, The unit digitof 1 x 2°x 3*x 7

is 8.

(.. the product of unit digits of
1,20,3%, 7si1x4x%x1x7=28)

o 10!
Hence, the unit digit of 100 is 8.
42.

(b) First of all we find the unit

digit individually of all the four
terms,

122%x3%x4x5%x6x7x8x9%x10,m

So, the unit digit of 888°?% is equal
to the unit digit of 8°*%
Now, the unit digit of 822%' equal to the
unit of 8* (since 9235! is divisible by
4), which is 6.
unit digit of (888)°2' = (8)*" =
unit digit of (222)°2 = (2)*" = 6
unit digit of (666)*%% = (6)*P™
unit digit of (999)%%%' = (9)venroer
=1
Thus the unit digit of the ex-
pressionis 9. (.. 6+6+6+1=19)
43. (d) The unit digit of the given ex-
pression will be equal to the unit
digit of the sum of the unit dig-

its of every term of the expres-
sion.

The unit digit of (11)2=1
The unit digit of (2!)2=4
The unit digit of (3!)*= 64
The unit digit of (41)* =6,
The unit digit of (S5)5=0 %
The unit digit ofy(6)°=0 ~
Thus the last d%i&g the (71)7,
(818, (91)°, (101)! be zero.
So, the unit \,)O the given

expression
(- 1+4+6 + 0+0+0=17)
44. (b) The, "félglt of (11)5= 1
s it of (21)*= 16
nglt of (31)*= 216
st digit of (4!)2= 576
last digit of (101)*= 00000
The last digit of (100!)*= 00000
(1000!)*= 00000
(10000!)?= 00000
(100000!)' = 00000
Thus the last 5 digits of the
given expression = 00929
[ 1+16+216+ 576+ 120 +

00000 + 00000 + 00000 +
00000 + 00000 + = 00929]

(c) (1™ + (21)%® + (31)7 + (41)%
+oonn (991!
unti digit (11)** = (11)?=1

unit digit (21)%= 1 x 2 = (2)%=4

unit digit (31)’=1x2 x 3 = (6)"= 6
unit digit=(41)* =1 x 2 x 3 x 4=(4)*% =6
unit digit=(51)""=1x2x3x4x 5 = (0)**= 0

......................................................

Now

45,

......................................................

same unit digit (99!)! = (1x2....99)
=(0)'=0
Then, Sum of unit digit =1 + 4
+6+6+0+0+..0=17
unit digit = 7
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46.

47.

(d) unit digit (12345k)”2 = 6
if we put the value of k = 2, ¢,
Then we get unit digit = 6

@) (1Y + (207 + (3) +
+(1001)10

unit digit (11)" = 1!
unit digit (2!)* = [2)2 =
unit digit (3!)* = (6)° =
unit digit (41)* = (4)** = 6
unit digit (5,;)5' (0)'*°=0

e

Sum of unit digit=1+4+6+

ﬁ’%@+0+o=17

%Jumt digit =

4!)’)[b)4x92x43x94x45x96

------

49,

.......

50.

* 499 9100
unit digit 4! =

unit digit 9% = 1
unit digit 4° = 4
unit digit 9* =1
unit digit 4° =4

......

unit digit 4°° = 4
unit digit 9'%° = 1
Then multiply the unit digit
4x1x4x1x4x] 4 x
Pairof 4 x 1 (4) is equal 50
we can say this expression =4
Then, unit place = 6
(@) 4 + 92+ 43 + 9% + 45 + Q¢

+ 499 + gIOO

unit digit 4' = 4

unit digit 92 = 1

unit digit 43 =4

unit digit 9* = 1

unit digit 45 = 4

......

......

...............................................

et d1g1t49"=4 ...................
unit digit 91%° = 1
Then,
Sum of unit place
4+1+4+1+4+1
Pair of 4 + 1 (5) is equal to 5
We can say this expression
=50 x5 =250
unit digit = 0
(a) 22" x g¢*x 4% x 5" x 7 x4
We know unit digit of
23‘ =281=10
unit digitof 58" =5
Then we know that when ev
number is multplied by 5 th

we get unit place = '0'
So, last digit =0

lie



